Lecture 20

Tuesday, November 2, 2021 12:34 PM
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top let f n =
let List.range 0 n in o f 10;
fun -> List.nth_exn 1 1i;; val g : i > = <fun>

val f1]: int -> int -> int = <fun> —( 14:35+20}=< |

utop #|g 3;;
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utoo let f n =



utop # let f n =

let 1 = List.map (List.range 0 n) ~f:(fun x -> ref x) in

fun 1 -> List.nth_exn 1 i;;
val f : int -> int -> int ref = <fun>
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utop # let gl = f 10;;
val gl : int -> int ref = <fun>
—( 14:22:05 )—<
utop # let g2 = f 10;;
val g2 : int -> int-ref = <fun>
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utop #
- : int>rxef=< {Base.Ref.contents = 3}

—( 14:22:15Q0—=<

utop
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—( 14:22:22
utop # !(gl
- int = 3
—( 14:22:39
utop # !(g2
- int = 3
—( 14:22:46 )—<
utop # ! (gl 38
- int = 3
—( 14:22:53 )
utop # (gl 3)
- 1 unit = ()
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utop # !(gl
- int =5
—( 14:23:18
utop # !(g2
- int = 3
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utop # let f n =

let 1 = List.map (List.range 0 n) ~f:(fun x -> ref x) in

fun 1 -> List.nth_exn 1 i;;
val f : int -> int -> int ref = <fun>
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let 1 = List.map (List.range 0 n) ~f:(fun x -> ref x) in
fun i -> List.nth_exn 1 i;;
val f : int -> int -> int ref = <fun>

—( 14:36:16 col

utop # let - f 30;; - — . _ I

val gl : ' > int ref = <fun> @5\#3
—( 14:36:21 )—X

utop let g27= 30;; = _

val g2 : int -> it ref = <fun> T ___-l R

—( 14:36:23 )—< ! f
utop # !(gl 5);;
- :int =5

—( 14:36:26 )—<
utop 1(g2 16);;
- : int = 16

—( 14:36:36 )—<

utop # let gl-= f 30;; —_— S - l.g; ( —)

val gl : int -> int ref = <fun>
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